Ohio Achievement Assessments—Practice Test 2
M

Use the information in the table below to answer 2. What process is capable of changing ocean fj

question 1. " water info fresh water that is usable for o

human consumption? E

A student in Cleveland, Ohio recorded the =

1 PM. temperature and barometric pressure A. solar radiation 8

each day from June 15 to June 24.The B. water cycle o
information was recorded in the table below:. C. plant tfranspiration

D. human respiration
1 PM. Cleveland Temperature and Barometric
Pressure June 15-24

Barometric
Temperature Pressure
June (°Fahrenheit) (millibars)
186 85 1007
16 87 1012
17 84 1010
18 68 992
19 74 996
20 81 1001
21 83 1010
20 84 1009
23 87 1011
24 Q0 1017

1. What weather event caused the colder
temperatures and lower barometric pressure
onJune 187

A. blizzard

B. cold front

C. warm front

D. maritime tropical air mass
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S Science

Use the information below to answer question 8

8. The Egyptian plover is a tiny bird that can
often be found feeding in the mouth of a
crocodile. The bird eats tiny pleces of food
that are trapped between the teeth of the
crocodile. The crocodile gets its teeth
cleaned and the plover gets a medl.

Z 1s8] 821jop0.4

What type of relationship is this?

A. mutualism
B. parasitism
C. predation
D. commensalism

=/

Q.

10.

Most of the electricity generated in Ohio
uses coal as a source of fuel. The heat from
burning coal turns water into steam, which is
used to turn a turbine. The moving turbine
generates electricity.

Which describes the energy transformations
from coal to electricity?

A. chemical — thermal — kinetic —
electricity

B. kinetic — chemical — thermal —
electricity

C. kinetic — thermal — chemical —
elecftricity

D. thermal — kinetic — chemical —»
electricity

Oxygen enters the body through the
respirafory system and then goes to the
cells. Nufrients are absorbed by the smalll
intestines and then sent to the cells. Wastes
that are produced by the cells are removed
from the body by various organs such as the
skin, kidneys, and lungs.

Which body system is responsible for
fransporting oxygen, nutrients, and wastes
throughout the body?

A. circulatory system
B. digestive system
C. endocrine system
D. excretory system
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Use the following information in the table to 17.The graph is missing the label for the y-axis.
answer questions 17-19.
What should the y-axis be labeled in the

In an experiment to test the effect of fertilizer on graph?
plant growth, a student obtained the following
results. There is one blank space in the table. A. Growth (cm)
B. Amount of Fertilizer (grams)
‘?:mgll}nf of QVQ;F‘QG Qvg.rage C. Average Ending Height (cm)
ertilizer artin ndin ; ;
(@ramey Heighfg(cm) Heigh?(cm) D. Average Starting Helght (cm)
5 5 10 18. No measurement was made for the Average
10 5 15 Ending Height using 35 grams of fertilizer.
15 7 22
20 8 20 If the Average Starting Height of the plants
25 7 17 was 6 cm, what do you predict the Average
30 5 12 Ending Height will be when using 35 grams of
35 o} fertilizer?
40 6 9
A. 5cm
. ; B. 6cm
The following graph was made from this datar: c 11 em
i The Effect of Fertilizer on Plant Growth D. 16.cm
14 /'"\\ 19. Which describes the effect of fertilizer on
/ plant growth?
12
10 N A. As the amount of fertilizer increases, the
\ plant growth increases.
8 S B. As the amount of fertilizer increases, the
5 N plant growth decreases.
/] \\ C. The amount of fertilizer does not affect
4 &N the amount of plant growth.
5 N D. As the amount of ferfilizer increases, the
plant growth increases up to a point and
0 then decreases.
0 10 20 30 40 5C

Amount of Fertilizer (grams)
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Use the following information to answer 29. A case of soda pushes down on the fioor
questions 27-29, with a 50-newton force. Gravity is the force

causing the case of soda to have weight,
Forces act in pairs. The pair of forces always

acts in opposite directions. The forces acting What force acting on the case of soda
on an object are balanced forces if they are opposes the force of gravity?
equal, and unbalanced forces if they are
not equal. Balanced forces occur when an A. friction pushing up with a force of 50
object is at rest, or if an object continues to newtons
move at the same speed and in the same B. the floor pushing up with a force of 50
direction. Unbalanced forces occur when an newtons !
object at rest begins to move, or if an object C. the floor pushing down with a force of 50 g
in motion changes speed or direction. newtons

D. friction pushing up with a force less than

50 newtons

27. In'which example are the forces acting on 4

the object balanced?

A. an apple falling from a tree

B. acar fraveling at 10 mph turning a
corner

C. a car accelerating from 30 mph to 40
mph

D. a car fraveling at 50 mph along a straight
highway

28. A student slides a book across a tabletop.
The book slides about 2 meters and stops.
The force causing the book to move is the
sfudent pushing the book.

What is the opposing force that causes the
book to stop?

A. drag
B. uplift
C. gravity
D. friction
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30. Since all organisms die, reproduction is necessary for the contfinuation of a species. There are two
types of reproduction: sexual and asexual,

Use the diagrams and information below to answer question 30.

Female

Paramecium

Offspring

What concept is illustrated by the examples of reproduction in the diagram above?

LN LW LA i Ll Y
B. Sexual repreduction is slower than asexual reproduction.

C. Sexual reproduction produces less variation than asexual reproduction.
D. Sexudl reproduction produces greater variation than asexual reproduction.

A.. Sexual renrnduction is fastasdhamasaa deaaradunting
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S Science

Use the following diagram to answer questions 31-33.

31.

32,

The diagram shows g profile view of a rolier coaster. The letters A-F indicate six cart positions along
the profile,

Start Finish

At what position does the roller coaster cart 33. The forces acting on the roller coaster cart
have the greatest potential energy? are unbalanced during the entire roller
coaster ride. Give two reasons how you

A. position B know the forces on the roller coaster cart
B. position D are unbalanced. (2 points)

C. position E

D. position F

How is the potential energy and kinetic
energy changing at position C?

A. Both the potential ana kinetic energy are
increasing.

B. Both the potential and kinetic energy are
decreasing.

C. The potential energy is decreasing and
the kinetic energy is increasing.

D. The potential energy Is increasing and the
kinetic energy is decreasing.
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Use the diagram below to answer guestion 35. Use the following graph to answer question 36.

23.5° The graph shows how the average life

o
NP expectancy in the United States has
f \ changed from 1910 to 2000.
Equator Changes in average life expectancy
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35. What change would occur to the seasons in
Ohio if Earth were tilted 0° instead of 23.5°7

Year

36. What do you think is the most likely reason

A. There would only be one season all year for this change?
long. : ,
B. There would only be winter and summer Ap GEVanCEs }n medmgl fechnology
B. advances in educational technology
each year. ; gy
. C. advances in communication technology
C. Summers would be cooler and winters )
D. effects of technology on the environment

would be warmer,
D. Summers would be warmer and winters

i 37. A student maintains a small terrarium —
E would be cooler,

a container that holds several living things.
The terrarium contains worms, frogs, crickets,
green plants, air, and water,

What are two abiotic factors in this
environment?

| A. water and air

' B. worms and frogs

C. air and green plants

D. green plants and water

38. What change would occur to the ocean
tides on Earth if the moon did not exist?

A. There would be no change in tides.

B. The sun’s gravity would cause lower high
tides and higher low tides.

C. The sun’s gravity would cause higher high
tides and lower low tides.

D. The sun’s gravity would cause one high
fide and one low tide each day.




